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2. fid b ) AL =) (BdE SEsalary:  alrd). G K L 20 e w2 P e
i Bz 2 7, NIRRT —HEE R, BRERAS REFHIN %
Salary, 14 %51Sex, BRFKRank 1 T. i Year. Salary~Sexf3 2I|Sex {134 M /& BT i
F1)(p=0.07), {HIzH|H B2 &R SexA i 2 (p=0.46):

Salary = S, + f,Sex + f,Rank + B, Year+ ¢

Im(formula = Salary ~ Sex + Rank + Year, data = salary)

Coefficients:

Estimate Std. Error e Pr(>|t]) t = e + IriEZE
(Intercept) 11011.76 966.95 11.388 .03e-15 ***

Sex 603.77 811.20 0.46 t=603.77/811.20
Rank 4747.18 452.58| 10.489 5.18e-14 *** =0.744
Year 393.86 74.53 3.04e-06 ***

A
Residual standard error: 2398 on 48 degrees of freedom
Multiple R-squared: 0.8454, Adjusted R-squared: 0.8358
F-statistin 3 and 48 DF, p-value: < 2.2e-16

T

(A1 7 R ) 2 VAR 0 L ROMEIVE PR dil) ¢ ok v
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B0, [FIEfRS Rank, Year (2 Z%: H,: B, = B, =0.

>ml =Im(Salary~Sex+Rank+Year, data=salary) #5¢4 5%y
>mO0 = Im(Salary~Sex, data=salary) #HF AR Y
>anova(m0, m1) #J7 Z 4> Mranova: LLHEmMO,m1

Analysis of Variance Table

Model 1: Salary ~ Sex
Model 2: Salary ~ Sex + Rank + Year

Res.Df RSS Df SumofSq F Pr(>F)
1 50 1671623638
2 48 276016717 2 1395606921 121.35 <2.2e-16 ***

_n-p, RSS,—RSS 52-4 y 1671623638 — 276016717
k RSS 2 276016717

F =121.35




